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X
119600.000
119618.416
119620.714
119688.211
119759.113
119761.493
119764.674
119765.168
119766.031
119766.745
119767.364
119767.731
119768.033
119768.588
119766.591
119764.882
119756.091
119747.289
119738.486
119729.681
119726.797
119720.868
119718.264
119712.036
119704.825
119703.267
119694.194
119685.689
119684.197
119682.118
119676.813
119673.230
119616.635
119614.793
119618.416

X
119700.000
119768.588
119766.591
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21100.000
21195.858
21197.791
21190.968
21183.777
21181.964
21174.067
21172.792
21170.332
21167.845
21165.079
21162.776
21160.164
21153.125
21150.931
21150.810
21150.267
21149.878
21149.634
21149.530
21149.528
21149.580
21149.618
21149.775
21150.049
21150.117
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21151.189
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21151.928
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21160.383
21195.858
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1985.602612
8626.241901
14474.191384
13529.399061
13497.339736
12231.846576
12085.728552
11727.509340
11354.810580
10915.765749
10548.439608
10142.928432
8850.146875
8397.605142
7930.983710
7403.776163
6907.404708
6436.586754
6280.255410
5986.350304
5863.529120
5559.002248
5217.664375
5168.410083
4720.720698
4336.034778
4309.960233
4213.556698
3954.410053
3802.687440
869.261925
857.994000
1112.013328

-239298.157576
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11502.808950
5751.404475
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1800.919056
1884.311152
7390.052947
13041.537932
11959.687101
11986.949808
11616.595776
11264.373195
10851.597855
10506.442464
10091.367884
8926.753125
8586.355428
8464.488710
8288.123494
7785.506898
7310.542226
6859.211580
6422 .840568
6286.595260
5997.228424
5886.590600
5607.289764
5253.514525
5225.516734
4821.696666
4396.788279
4334.545757
4264.223504
4013.863315
4247.340000
1004.471205
1418.027394

-227795.348626 .
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3383.488710
3261.423494
2797.706898
2347.142226
1906.211580
1470.040568
1818.819578
1864.122876
4228.842464
4074.967884
3614.253125

34260.274831
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1033.550304
905.529120
1000.695824
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116528
228576
819578

939930
082926
041463

202248
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.931828

131464
138792

568707
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909.090600
602.389764
335.207225
463.902316
1000.695824

3311.285729
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e 2-2
M % X Y (X-X0)%(YN-1-YO0) (XN-1-X0)%(Y-Y0)
¢ X0-YO0 + 119600.000 - 21100.000
6-39 + 119704.825 - 21150.049
6-18 + 119703.267 - 21150.117 - 5168.410083 - 5253.514525
a 6-19 + 119694.194 - 21150.602 - 4720.720698 - 5225.516734
6-48 + 119696.161 - 21170.227 - 4865.938922 - 6614.962038
6-49 + 119706.772 - 21169.473 - 7498.277244 - 6680.593153
0 6-39 + 119704.825 - 21150.049 - 7282.507225 - 5343.831828
- 29535.854172 - 20118.418278
¢ EEE = 417.435894
mHE = 208.717947
C 2-1
H % X Y (X-X0)%(YN-1-Y0) (XN-1-X0)*(Y-YOQ)
¢ X0-YO0 + 119600.000 - 21100.000
6-19 + 119694.194 - 21150.602
, 6-20 + 119685.689 - 21151.189 - 4336.034778 - 4821.696666
( 6-40 + 119684.197 - 21151.311 -  4309.960233 - 4396.788279
6-46 + 119686.201 - 21171.096 -  4423.059511 - 5986.069912
, 6-47 + 119691.191 - 21170.581 - 6483.315336 - 6084.152781
( 6-48 + 119696.161 - 21170.227 - 6787.139541 - 6404.070357
6-19 + 119694.194 - 21150.602 - 6614.962038 - 4865.938922
( - 32954.471437 - 32558.716917
BEmE = 395.754520
mE = 197.877260
{
' 3
{ I~ G- X Y (X-X0)%(YN-1-Y0) (XN-1-X0)%(Y-Y0)
X0-YO + 119600.000 - 21100.000
6-40 + 119684.197 - 21151.311
6-41 + 119682.118 - 21151.481 - 4213.556698 - 4334.545757
6-45 + 119684.125 - 21171.309 - 4330.839125 - 5855.752462
6-46 + 119686.201 - 21171.096 - 6146.907109 - 5980.951000
6-40 + 119684.197 - 21151.311 - 5986.069912 -  4423.059511
- 20677.372844 - 20594.308730
« BmtE = 83.064114
mE = 41.532057
( 4
H A& X Y (X-X0)#*(YN-1-Y0) (XN-1-X0)*(Y-YO0)
( X0- YO + 119600.000 - 21100.000
6-41 + 119682.118 - 21151.481

6-21 + 119676.813 - 21151.928 - 3954.410053 - 4264.223504
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X X %X X X % % wW B 7 ®H # X X %X X X

= S X Y (X-X0)#(YN-1-Y0) (XN-1-X0)%(Y-Y0)
6-22 + 119673.230 - 21152.255 - 3802.687440 - 4013.863315
6-42 + 119648.791 - 21154.736 - 2549.573705 -  4008.317280
6-44 + 119650.815 - 21174.655 - 2781.409840 - 3642.492105
6-45 + 119684.125 - 21171.309 - 6280.351875 - 3623.566835
6-41 + 119682.118 - 21151.481 - b5855.752462 - 4330.839125
- 25224.185375 - 23883.302164
EEE = 1340.883211
mE = 670.441605
5
H 4 X Y (X-X0)%(YN-1-Y0) (XN-1-X0)%(Y-Y0)
X0-YO + 119600.000 - 21100.000
6-42 + 119648.791 - 21154.736
6-30 + 119616.635 - 21158.000 -  910.533360 - 2829.878000
6-31 + 119614.793 - 21160.383 -  857.994000 - 1004.471205
6-43 + 119616.603 - 21178.108 - 1002.538949 - 1155.451644
6-44 + 119650.815 - 21174.655 - 3969.058020 - 1239.496965
6-42 + 119648.791 - 21154.736 - 3642.492105 - 2781.409840
- 10382.616434 - 9010.707654
EEmE = 1371.908780
mE = 685.954390
6
H % X Y (X-X0)%(YN-1-Y0) (XN-1-X0)*(Y-Y0)
X0-YO0 + 119600.000 - 21100.000
6-24 + 119618.416 - 21195.858
6-25 + 119620.714 - 21197.791 - 1985.602612 - 1800.919056
6-32 + 119652.827 - 21194.545 - 5166.005157 - 1958.405130
6-44 + 119650.815 =~ 21174.655 -  4804.304175 - 3943.799685
6-43 + 119616.603 - 21178.108 - 1239.496965 - 3969.058020
6-24 + 119618.416 - 21195.858 - 1438.436928 - 1591.530374
- 14633.845837 - 13263.712265
EEmE = 1370.133572
mE = 685.066786
7
H 4 X Y (X-X0)%(YN-1-Y0) (XN-1-X0)*(Y-YO0)
X0-Y0 + 119600.000 - 21100.000
6-32 + 119652.827 - 21194.545
6-33 + 119686.142 - 21191.177 - 8144.295390 - -  4816.607379
6-45 + 119684.125 - 21171.309 - 7670.265125 - 6142.699878
6-44 + 119650.815 - 21174.655 - 3623.566835 - 6280.351875
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X %X X %X X % % mwm B 7 E & X X X X %
- J= QA X Y (X-X0)*(YN-1-Y0) (XN-1-X0)%(Y-YO0)
6-32 + 119652.827 - 21194.545 - 3943.799685 -  4804.304175
- - 23381.927035 - 22043.963307
%%g = 1337.963728
) = 668.981864
/ .
- H 4 X Y (X-X0)*(YN-1-Y0) (XN-1-X0)%(Y-Y0)
X0+YO + 119600.000 - 21100.000
6-33 + 119686.142 - 21191.177
g 6-34 + 119688.211 - 21190.968 - 8042.814347 - 7836.165456
6-46 + 119686.201 - 21171.096 - 7841.532568 - 6271.449256
6-45 + 119684.125 - 21171.309 - 5980.951000 - 6146.907109
¢ 6-33 + 119686.142 - 21191.177 - 6142.699878 - 7670.265125
- 28007.997793 - 27924.786946
( FEmEmE = 83.210847
mE = 41.605423
( 9
H %4 X Y (X-X0)%(YN-1-Y0) (XN-1-X0)%(Y-Y0)
( X0-YO0 + 119600.000 - 21100.000
6-34 + 119688.211 - 21190.968
6-35 + 119722.164 - 21187.525 - 11113.014752 - 7720.667775
( 6-51 + 119720.176 - 21168.504 - 10518.404400 - 8368.722656
6-50 + 119720.168 - 21168.503 - 8231.988672 - 8232.416528
6-49 + 119706.772 - 21169.473 - 7314.202316 - 8348.431464
( 6-48 + 119696.161 - 21170.227 - 6680.593153 -  7498.277244
6-47 + 119691.191 - 21170.581 - 6404.070357 - 6787.139541
6-46 + 119686.201 - 21171.096 - 6084.152781 - 6483.315336
6-34 + 119688.211 - 21190.968 - 6271.449256 - 7841.532568
- 62617.875687 - 61280.503112
{ BEE = 1337.372575
HE = 668.686287
( 10
H 4% X Y (X-X0)%(YN-1-Y0) (XN-1-X0)%(Y-Y0)
X0-YO + 119700.000 - 21100.000
6-35 + 119722.164 - 21187.525 _
6-36 + 119730.557 - 21186.673 - 2674.501425 - 1921.020372
6-52 + 119728.644 - 21167.874 - 2482.661412 - 2074.025818
6-51 + 119720.176 - 21168.504 - 1369.425824 - 1962.228576
6-35 + 119722.164 - 21187.525 - 1518.322656 - 1765.904400
- 8044.911317 - 7723.179166
BEHE = 321.732151
' HE = 160.866075
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(X-X0)%(YN-1-Y0)

I

(X-X0)#(YN-1-YO)

1

(X-X0)%(YN-1-Y0)

CH

5123.501049
5151.699061
5300.939736
4826.146576
4806.528552
4694.309340
4570.310580
1864.122876
2074.025818

38411.583588
1282.842584
641.421292

1804.786416
1985.602612
1822.335285

5612.724313
4.501287
2.250643

4941.965026
5151.699061
4986.197976

15079.862063

2.703673
1.351836

3503.680804

(XN-1-X0)%(Y-Y0)

(XN-1-X0)*%(Y-YO0)

(XN-1-X0)%(Y-Y0)

I

(XN-1-X0)#(Y-Y0)

2559.973789
4845.137932
4553.987101
4707.749808
4583.395776
4479.873195
4343.697855
4572.264136
2482.661412

37128.741004

1786.313830
1800.919056
2029.992714

5617.225600

5096.490018
4845.137932
5140.937786

15082.565736
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X X X X X % £ @W ® F B # X %X X X X

H % X Y (X-X0) % (YN-1-Y0) (XN-1-X0)*%(Y-YO0)
6-29 + 119766.591 - 21150.931 - 3537.646875 - 3493.255428
6-10 + 119768.749 - 21151.083 - 3501.455319 - 3401.668053
N - 10542.782998 - 10547.214106
BEE = 4.431108
mE = 2.215554
2323%)
H 4 X Y (X-X0)%(YN-1-Y0) (XN-1-X0)%(Y-Y0)
X0+YO + 119600.000 - 21100.000
6-23 + 119614.571 - 21158.210
6-30 + 119616.635 - 21158.000 - 968.323350 - 845.118000
6-31 + 119614.793 - 21160.383 - 857.994000 - 1004.471205
6-23 + 119614.571 - 21158.210 - 879.840693 - 861.100530

I

- 2706.158043
4.531692
2.265846

2710.689735
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